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Question: 1

Regarding Huawei Videoconferencing VME technology, which of the following descriptions is correct:
() (multiple choice)

A. It can improve image compression ratio and save bandwidth

B. Optimize the image processing of the active area to increase the clarity

C. Optimize the graphics in the static area to increase the clarity

D. VME's frame doubling technology can improve the smoothness of images

Answer: A, B,D

Question: 2

Which of the following signaling is included in a SIP call? () (multiple choice)

A. Invite
B. 200 OK
C. ACK

D. Set UP

Answer: A, B, C

Question: 3

After the terminal initiates a call and sends an ARQ message to GK, it receives an ARJ message. The
possible reason for the call rejection is () (multiple choice)

A. The called is offline

B. The called party refuses to answer
C. Insufficient call bandwidth

D. called busy

Answer: A, C

Question: 4

When the number of bills exceeds the limit of the number of bill pools of the U1900 unified gateway,
which statement is correct? () (multiple choice)
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A. can be set to choose to overwrite old bills

B. can be set to discard new bills

C. It may cause the unified gateway to fail to register new users
D. May cause all users to be unable to initiate calls

Answer: A,B,D

Question: 5

In the H.460 public and private network traversing dual SC networking, the communication between
the terminal and Client GK follows the () protocol (Single choice)

A. H.460
B. H.323
C. H.460.18/19
D.Q.931

Answer: A

Question: 6

One codec rate is 64kbps, and the packaging time is 20ms. What is the IP band occupied by the
codec? The width is () kbps (Note: IP/UDP/RTP header is 40 Bytes, here 1kbps=1000bps)

A.83.6
B. 76.6
C.9%0.4
D. 80

Answer: D

Question: 7

Huawei TE series terminals make point-to-point calls, and the video-related settings are all
"automatic", the following statement. The correct one () (multiple choice)

A. In the case of sufficient bandwidth, the main video is given priority to the 1080P60 format.
B. In the case of sufficient bandwidth, the main video is given priority to the 1080P30 format
C. In the case of sufficient bandwidth, 720P60 format is preferred for the main video
D. In the case of sufficient bandwidth, 720P30 format is preferred for the main video

Answer: A,B,D

Question: 8
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If AAC_LD uses an encoding rate of 48kbps and a packaging time of 20ms, what is the IP bandwidth
occupied by the encoding () kbps

A. 80
B.74.4
C.64
D.76.6

Answer: C

Question: 9

The interconnection between two U1900 series unified gateways can only be achieved through SIP
trunking. ()

A. Right
B. Wrong

Answer: B

Question: 10

The U1900 system is connected to the PSTN through a digital trunk. In U1900, phone A cannot call
user B's On mobile phone, user B can call back phone A normally. Which of the following reasons
may cause this failure? () (single choice)

A. The digital trunk connection between U1900 and PSTN is faulty.
B. Phone A is not registered properly.

C. Phone A outbound call permission restriction

D. Phone A has been added to the system's blacklist of called parties

Answer: C
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